2 t = fiodJ) —

(n=2075)
n
(2075)
1 931 44.9
2 1144 55.1
( 211
(n=2075)
n
(2075)
1 0 = 1010 48.7
2 Nod 1065 51.3




(n=2075)

n

55 59 10.0%

2.11

(2075)

112 0 0.0
212 19 39 1.9
320 24 167 8.0
425 29 312 15.0
530 34 193 9.3
635 39 222 10.7
740 4 4 187 9.0
845 49 228 11.0
950 54 207 10.0
105 5 59 208 10.0
116 0 312 15.0

( 213 )




(n=2075)

n

2.1.2

4.4%

(2075)

1 91 4.4
2 152 7.3
3 685 33.0
4 382 18.4
5 337 16.2
6 135 6.5
7 54 2.6
8 239 11.5

( 214 )




(n=2075)

n
(2075)
1 90 43
2 n 37 1.8
3 ( ) 312 15.0
4 ( ) 226 10.9
5 (/ =) 304 14.7
6 100 438
7 32 1.5
8 ( ) 333 16.0
ORI/ N* i P um 271 13.1
10 115 55
11/ — 64 3.1
12 191 9.2
( 215
4.3% 1.8%




(n=115)

=
o
o
o

®~NOUNWN
)
[any
\‘

[Q2] (n=2075)

n

(2075)

( 217 )



2-2 4 — - A d - = ™=
[Q3] (n=2075)
62
22 80
n
(2075)
1 -= L 2 £z ™ 116 5.6
_ AL =
2 E- 0 o= 2™ R>:1 216 104
LI P-J bl
3 AL o=  fz ™| 72 3.5
4 ™ dpgo.i g £z ™ 98 4.7
1 .
5, — d — ¢ Fz ™ nw i 60 29
d mafi a0 PJ a2d g = —
6 Lz 456 22.0
7/ — 24 1.2
8 ~ 44— | o™ 1281 61.7
( 221 )
0% 20% 40% 60% 80% 100%
5.6
10.4

35

4.7

2.9

22.0
1.2
61.7
( 221 )
7 24
9
4
2
( )




[Q4]

45 50 80
4
vi' <o 1 2 3 4 5
tnfs
- % | =| ™ 2 - T
+ qlfe | =|‘||j|’: J Me o= g
# TM_" - o= ™ 2 Ty Fa ™ ™
[a}
|
Uedi f w— 4 44 — <t~ k=™ (2075) 378 889 350 61 397
] 18.2 42.8 16.9 2.9 19.1
2l o k=4 -8 | " > ed (2075) 941 790 173 25 146
o A]]-e - o= ™ 45.3 38.1 8.3 1.2 7.0
3 o2 — ™ (2075) 469 587 490 109 420
AL Lz 22.6 28.3 23.6 5.3 20.2
4 4 L gamax 4 — L oy amle | (2075) 696 870 269 23 217
L 1 =™ 335 41.9 13.0 1.1 10.5
( 222 )
[ ] [ ]
] m
]
0% 20% 40% 60% 80% 100%




[QS]

15 20 50 60
6.6 32
vil-e 1 2 3 4 5
£ %] < =
- % | =| ™ » =| il -
+ 3 "_e | =| '" j*/f Vv Mg o= ™Mp
# TM_" - o= ™ —n ™ ™
# ™Mp ™™ T
|
1 L A ~|s d - ol (2075) 80 652 694 87 562
o= Fz ™ <« ol 3.9 31.4 33.4 4.2 27.1
2l zidodense.nzs -  ¥d. | (2075) 78 447 745 125 680
L L= o= ™ 3.8 21.5 35.9 6.0 32.8
3 = o=L o 4 ml_d 4¢ ~= | (2075) 318 936 399 97 325
™ 15.3 45.1 19.2 4.7 15.7
4 —L_s — L4 4 o= ™ (2075) 381 853 370 64 407
18.4 41.1 17.8 3.1 19.6
5, ™ =—k' @He-~ | 0 ™ler - | (2075) 136 533 687 107 612
= ™ 6.6 25.7 33.1 5.2 29.5
6| . ol [Ars~ 4 F=zm ho> (2075) 403 728 486 45 413
Yy Pfiedhdd ' wK 19.4 35.1 23.4 2.2 19.9
7 | 3 < k= =8 —a™|e = | (2075) 446 787 353 52 437
= ™ 215 37.9 17.0 25 211
( 223 ( )
[ ] [
| |
|
20% 40% 60% 80% 100%




[Q6]

8
30 40
2 10
6
6 10 20 Q4 Q5
vl .o 1 2 3 4 5
2uds
4 3 le L™ % e 2wy
# TM_" - o= ™ —n ™ ™
# ™Ma ™ ar
|
1 d 02¥% £ e = =™ (2075) 167 427 379 379 723
] 8.0 20.6 18.3 18.3 34.8
2 = - = — —v k| (2075) 35 159 574 340 967
— - o= ™] 1.7 7.7 27.7 16.4 46.6
3 — e L= (2075) 40 236 551 307 941
1.9 11.4 26.6 14.8 45.3
4  —l_wtd =fler «=™ (2075) 173 600 567 213 522
Fav' el 8.3 28.9 27.3 10.3 25.2
5| 1092 foen bE=r 3= = " (2075) 73 254 527 398 823
== A-" -“J_ IEM-Il o wa i
- 4t FD
35 12.2 25.4 19.2 39.7
d - ™ 4 g .|| d
6lysa, 4 44 o= ™| 59 0 (2075) 91 370 586 173 855
i ap)
4.4 17.8 28.2 8.3 41.2
( 2.24 )
[ ] [ ]
] ]
]
0% 20% 40% 60% 80% 100%




[Q7]

100%

70 EV
25 30 EV
21
vil.e 1 2 3 4
TM'\/l
J' = ™ J’ = ™
i - { % < Nef o |
A Lk b o
LQ ™
L
—2050 odWfia 2.4 i p.
| ce. A Z._. _.0 (o) 526 213 508 738
= _ JL
St = Als 253 103 288 35.6
EVehisd es' i 0z— ©2 03
2 o saen frlesifi — z. (2079) 644 435 537 459
AL
i< m™e 3.0 210 259 221
alofil oplodal 5fig” Deodi - -7 1 1 101
3 2loqfve 5 wli- < 5 | (2075) 3 69 510 019
— AL
> Lo o3 18.2 8.1 246 491
¢ o0ai ;' fiehod2w0de Tfi DX 4 @ai
4 Jﬂl L ml_tc oo — | (2075) 411 121 522 1021
-|].£ %l Aleo Ot
zd2. "fidlyjkall— 19.8 5.8 25.2 49.2
50l -0 :0d:0:0: "4 2 4L (2075)| 1166 263 405 241
- 2% ™ % 56.2 12.7 19.5 11.6
ESG o=
6 .74 3 - A daqe vqa | (079) 423 138 563 951
1 - % 204 67 271 458
od ¢ "D <t kD td =% Q-
o e o0 % L‘l Ari LA | (2075) 576 100 507 892
moo k4 % o™ [e A+ s 2758 4.8 244 430
* PKO i ~of Vv —  ax2idy —
8. o yhom=s Vo A 4=z py . (079 472 03 462 1048
:| af o™ 22.7 45 223 505
( 2.25 )
] n "] "]
0% 20% 40% 60% 80%
2050 2050 : ' '
EV
2030
DX
ESG
( 225

10

50




[Q8]

9.
(n=2075)
40
34 6
n
(2075)
lof+<oad —332]| ™M a™Ms el 710 34.2
2 — - - o=yl 471 22.7
3:4 — Yt |4 — o d - o= ™| 1L 315 15.2
s TVECH ™ 2 ais] s 853 411
e ||—
5 £ [ V4 L 3 vd vl 129 6.2
6 4 -V Y |k 119 5.7
7/ — 22 1.1
8 Ylka™ 47 2.3
9 = | <[ = ™p ™ 413 19.9
( 2.26
0% 20% 40% 60% 80% 100%
34.2
22.7
15.2
411
6.2
5.7
1.1
2.3
19.9
( 226 )
7 22
2

11




[Q9]

12.
(n=2075)
24
1 10
38
n
(2075)
1 vl— R & B 262 126

4 4 _ AL
2 #ofeqc 1y 125 6.0

4 v <

— — o d — iy
S”tn_fiam#_EJozsé Vi< 487 235

cCO2 4L 1V 1997
4]0 ks - A % # Nef 159 7.7

| <

- dydws =V 2005 oz
5 Lyodyvr oV %O wmzfiJr S 22 1.1
6 10 _2011 — - e 203 9.8

5 2015 -~ t 4V 0
7 <pGs - A 37 1.8
g 1 - A % %o T 200 96

Vi<

3% —8 . a0 Y- — =V E-—

10 % L 14vi< 29 1.4
10/ — 38 1.8
11 Ylka ™ 141 6.8
12 -~ d — -= ™M= 3 = TMp ™ 372 17.9

( 227

12




Co2
10 2011
5 2015
SDGs
1
3
10 38
5
5

18

2005

2.2.7

1997

0% 5% 10% 15% 20%  25%

12.6

6.0
235
7.7
11
9.8
1.8
9.6
1.4
1.8
6.8

17.9

13

30%



[Q10]

5.
(n=2075)
24
n
(2075)
1<=L 4 L 5] 65 3.1
244 d L5 436 21.0
3 Nes 4 d | aom™ 994 47.9
4 o A | oo 161 7.8
5 - d —v E-0o def =y ™ 419 20.2
( 228 )
3.1%
7.8%

( 228

14




[Q11]

(n=2075)
42 8
50
n
(2075)
1 8 1l 4 Lym™ 879 42.4
2y, b 2 ™| %e | £ Yo Yo %o 101 9.2
L
3 4 3z ™y MYs | 4 qvm™ 367 17.7
4TM=| Ll vl wlro ™%e o fer <V 483 233
5 4 V™ =™ 155 7.5
( 229 )
7.5%
23.3%
17.7%
9.2%
( 229 )

15




[Q12]
(n=2075)

43
25 18

1793 520 bk —Ne
2 - A
3 od <4
4 a
5 0 d
6 0
7 0 Va4
8 0 Y44 d o=
90ec = |H nPR
10/ —
11 Ylka™ o™
( 2.210
0% 20%
15.5
25.0
24.9
10.4
18.4
7.7
2.2
PR 8.8
1.1
/ 11.3
( 2210
10 22
2

16

40%

43.1

n

(2075)
322
519
895
516
215
381
159
46
183
22
234

60%

15.5
25.0
43.1
24.9
10.4
18.4
7.7
2.2
8.8
11
11.3

80%

100%




EV

17



[Q13] (n=2075)
65 48 SNS 24
n
(2075)
luwafi a3t pP) —Odf 0%l 994 47.9
2SNS sd-" inkeJs:d2enndf ® %l 494 23.8
39" f —5" D oWl 1338 64.5
4 8 8 o> 1 L 308 14.8
5%F 0> 8 o= Wl 46 2.2
6 — oz Wl 74 3.6
7 — 4 R 57 2.7
8 Z— d oz Wl 65 3.1
9 d # %Ne™p > o Wl 104 5.0
10/ — 17 0.8
( 2211 )
0% 20% 40% 60% 80% 100%
47.9
SNS 23.8
64.5
14.8
2.2
3.6
2.7
31
5.0
0.8
( 2211 )
10 17
10
2
2

18




[Q14]

(n=2075)
43 34
28
n
(2075)
1 29— 3% n -= ™| | < 462 22.3
2 — # ¥ %1 < 710 34.2
o@D ad o % 2 a ¥
3 895 43.1
| [ %4 ==™] 1 <
4 — ™Mg 4o | # Nel | < 580 28.0
5 — # Ne| o 2 o £ Nef | < 340 16.4
6 % =™ N Y- #Nef 132 6.4
7/ — 10 0.5
8 Ylka ™ 231 11.1
( 2212 )
0% 20% 40% 60% 80% 100%
22.3
34.2
43.1
28.0
16.4
6.4
0.5
11.1
( 2212 )
7 10

19




2-3 d 1V -=™=
[Q15]
(n=2075)
20 64
55
20
n
(2075)
1 d o2 - A< 1132 54.6
2 o — - A< 669 32.2
3 — 14 — 1t~ AL < 794 38.3
4 —24/ 4| — Ne|| - A< 816 39.3
5 - - A< 506 24.4
6 d T T 503 24.2
7 - n 4 — o bMrs 368 17.7
4 s o= — 0 - -
= 4 4
8 A< | 69 33
_ i i J
9 » |_ n Omme | 0=8 ) I_ 1325 639
= A -” | <
"o 4 o L—dlkeam™ —) | —
10 NP 1007 485
11 oqd L ozwl L=s]. < 669 32.2
J L] ! i i
12 ADJ) " mm fido= <41 »D 940 453
- A -” | <
13 4 - A< 890 42.9
8 8 ~™M4qki 2D — n -
14 931 44.9
AL <
15 4 - A< 954 46.0
d Llok 4~ 0
16 g s I oy A s 502 24.2
17 Y — - 4 - A< 527 25.4
18 - = - A< 502 24.2
19 — 4 — n - A< 359 17.3
20 — o k=% <s=n¥%[ =™ < 371 17.9
21 — - A< 415 20.0
22 8 8 —=o%d - A< 527 25.4
( 231 )

20




2.31

0% 20% 40% 60% 80%

54.6

32.2

38.3

39.3

24.4

24.2

17.7

33.4

63.9

48.5

32.2

45.3

42.9

44.9

46.0

24.2

25.4

24.2

17.3

17.9

20.0

25.4

21

100%



[Q16]

(n=2075)
57 50
23
83
n
(2075)
1 — 1192 57.4
2 — 4 300 14.5
3 Ylrk—o=t1pn>— 473 22.8
4ewd)e-' Kdod.i 76 3.7
5 4 232 11.2
6 - ° ° - 228 11.0
TWEBOmwml! —@0¢é0o =38 8 w7 f 1038 50.0
8 8 8 o W' D ¥fiad — 199 9.6
9 8 8 8 — 331 16.0
10 <£i 108 4 0o 377 18.2
11 8 Q0R) «+® 4¢RJ - — 216 10.4
12 — 109 5.3
13 — — - #£o L— 83 4.0
14/ — 43 2.1
( 232 )
0% 20% 60% 80% 100%
57.4
14.5
22.8
3.7
11.2
11.0
WEB 50.0
9.6
16.0
18.2
10.4
5.3
4.0
2.1
( 232 )
14 43
10 5 5
5 WEB SNS 3 3
NGO

22




[Q17]

(n=2075)
60
n
(2075)
1 —  %Ng ¥ 681 32.8
2 o1 #00 - Lo %Ng Y 558 26.9
3 | o %[ v 569 27.4
4/ — 3 0.1
5 Y%lam™ 264 12.7
( 233 )
( 233 )
4 3

23




[Q18]

(n=2075)
31 28
n
(2075)
1 ~m™m=zl 646 31.1
20 - ™M= 3 TMg Mg | < | g™ 362 17.4
3 — —=9 253 12.2
4 —< % 580 28.0
5 —< % 374 18.0
6 —< % 231 11.1
7 —< % 84 4.0
8 o[ V% 234 11.3
9 ol V<% 113 5.4
10 4 =V <% 22 1.1
11/ — 3 0.1
120 Ylka™ 190 9.2
( 2.34 )
0% 20% 40% 60% 80% 100%
31.1
17.4
12.2
28.0
18.0
11.1
4.0
11.3
5.4
1.1
0.1
9.2
( 234 )
11 3

24




[Q19] (n=2075)
36 31
Q19
n
(2075)

1> — ¥ ™M Me Lz | 5 Mg et 750 36.1

24— -kr= ods ewnl| 468 22.6

3 ™ 3 Mg el 643 31.0

4 — ™ 3 Mg el 393 18.9

5 Y= M= 1Ly, M e 14k 315 15.2

6 Y= M= 1|3y M e 14k 159 7.7

7 Y= ™M= 1Lz ™M e L 67 3.2

8/ — 20 1.0

9 Ylka™ 200 9.6

( 235 Q18 )
0% 20% 40% 60% 80% 100%

36.1
22.6
31.0
18.9
15.2
7.7
3.2
1.0
9.6
( 235 Q18 )
8 20
4 2
2

25




26



[Q20]

(n=2075)

72

n
(2075)

l<=L ¢ 526 25.3
22 L |r¥s ™y -/ e e 961 46.3
3> Ltz lym™ 331 16.0
4> ks ™y /e o™ 73 3.5
5 9 m=a™ 44 2.1
6 Wla™ 140 6.7

( 2.36 )
( 2.36

27




[Q21] (n=117)
Q20 117
38
29
n
(117)

1143 #~ Nej # %Y Y|k 9 7.7

2 Yoo ™MB A=5%1 < %Ne| | 18 15.4

3 | =2Llz 1 l_wyl 5 4.3

4 =0 %lEo ™yl 34 29.1

5 — - Yo ™14 |k 18 15.4

6 - L L o ™14 ||F 44 37.6

7/ — 4 3.4

8 Ylka™ 10 8.5

( 2.37 )
0% 20% 40% 60% 80% 100%
7.7
15.4
4.3
29.1
15.4
37.6
3.4
8.5
( 237 )

7 4

28



[Q22]

(n=2075)
48
40
n
(2075)
+ol<d oW Vicsoazs 4V ™ <%
1 JD A 250 12.0
2 | # %0n ™3ps |k oy ™ 653 31.5
3SNSaz=¢# d d oy m™ 84 4.0
4 o 4 Yoo M—g o™ 452 21.8
5 ~ ™Y Mg ™ 377 18.2
6/ — 3 0.1
7 Yglka ™ 256 12.3
( 2.38 )
12.0%
4.0%
2.3.8
6 3

29




[Q23]

10

(n=2075)
21 ICT
n
(2075)
1/ Ly L 1 d Y ™y < 433 20.9
2 — - =5V 4 - #£94 254 12.2
3 d 1 s 4 5 v 197 9.5
4 9 — <-— ™ 8 203 9.8
5 — — 150 7.2
61 CT — n 63 3.0
7060 =~ | n 249 12.0
8 4 - — 131 6.3
9 ~ [l 81 3.9
10/ — 12 0.6
11 Ylka ™ 302 14.6
( 239
0% 5% 10% 15% 20% 25% 30%
20.9
12.2
9.5
9.8
7.2
ICT 3.0
12.0
6.3
3.9
0.6
14.6
( 239 )

12

30




w
=N
I
.
n
2
i

[Q24]
(n=2075)
70
n

(2075)
l1<=1 o< e 501 24.1
2> L |Eves ™y < e 944 455
3> Ltz lym™ 294 14.2
4> | |FY%< ™q < Fa™ 58 2.8
5 9o < o™ 34 1.6
6 Wla™ 244 11.8
( 241 )

1.6%

2.8%

( 241 )

31



[Q25]

(n=1445)
63 42
n
(1445)
1 909 62.9
2 NP O 279 19.3
3 603 41.7
4 130 9.0
5 d 227 15.7
6 n 263 18.2
7 8 602 41.7
8 426 29.5
9/ — 6 0.4
100 Y%l|a ™ 52 3.6
( 242 )
0% 20% 40% 60% 80% 100%
62.9
NPO 19.3
41.7
9.0
15.7
18.2
41.7
295
0.4
3.6
( 242 )
9 6

32




[Q26]

(n=2075)

71

n
(2075)
1:Ne]| 177 8.5
2™ 1471 70.9
L
3. " FIVis|N|% %2ze¥% %|o 497 20.6
( 243 )

2.43

33




[Q27] (n=1471)
1471 45
28
n
(1471)
1 Yo ™ o™ 662 45.0
2 Yoo ™ L Jy <%EHRa™ 408 27.7
3 YgTMn ™ Al % ~ TMp ™ 231 15.7
4 o™ ~d Fard ro o™ < %Ne 261 177
g0 B Ko™ A 4 Yagr Vs |F 0 86 58
™
6 N Yoy ™ %o Hdd ™ 206 14.0
7/ — 9 0.6
8 Ylka™ 149 10.1
( 244 )
0% 20% 40% 60% 80% 100%
45.0
27.7
15.7
17.7
5.8
14.0
0.6
10.1
2.4.4 )
7 9

34




2-5¢.

29

Q7
Q8

Q9

Q10
Q11
Q12
Q13
Q16
Q23

Q11

Q9

Q10
Q12
Q13
Q16
Q22
Q23

Q17

Q12
Q13
Q16
Q22
Q23

(

2511

35




(1)

[Q7]
39
39 50
EV 29
14
[1] 2050 2050
“fEme afe ™% eo™e ™ i< | N %o o™ o fro™
29
30
40
50
60
[2] EV 2030
“fEme afr =™ % o™ ™M < | Nef %o fa™e o fro™
(2,075)
29 (518)
30 39 (415)
40 49 (415)|
50 59 (415)
60 312)
( 2512 )
[3]
fEme Afr e % eo™e ™M < N %o fa™0 o fro™
(2,075)
29 (518)
30 39 (415)
40 49 (415)|
50 59 (415)|
60 (312)
( 2513 )

36



(4]

DX

Sr=me afe femn come s ko o o fom

29
30 39
40 49
50 59
60
( 2514 DX)
(3]
rEm e afe r= % wo™e ™oas| N %o ffa™e o o™
29
30 39
40 49
50 59
60
( 25.1.5 )
[6] ESG
crE™e Afr =% co™s ™M N %o o™ o o™
29
30 39
40 49
50 59
60
( 2.5.1.6 ESG )
[7]
SrEM e afr r= % eo™s ™ous|Nef %o ffo™ o o™
0,
(2,075)
29 (518)
30 39 (415)
40 49 (415)|
50 59 (415)
60 (312)

(

2.5.1.7 )

37



(8]

“fEme Afe ™% eo™e ™ < | Nef %Bllo o™ o fro™
29
30 39
40 49
50 59
60
39 40
60 55
39
29 15 60 1
100%
80%
60%
411
40% 34.2
227 19.9
20% 152
6.2 57 -
1.1 -
0% —
n=30 oo — 2t — -V # - o Ylo -~
_ o =3 - - %t 4 E-fq4 fvq4 Lok ™ =
o R " | <=
[ 0 to™s g=m ¢4 doay & ory ™ ™
5 ewh wh | ce=ms| 4 evw
5 J%k ws ek
B w0 sl
(2,075) 34.2 22.7 15.2 411 6.2 5.7 1.1 2.3 19.9
29 (518) 39.6 15.8 12.9 35.9 14.7 4.8 0.6 2.7 21.4
30 39 (415) 39.3 13.7 14.0 402 6.7 6.5 1.7 2.4 22.4
40 49 (415) 33.0 19.8 15.2 35.9 3.4 5.5 1.9 3.4 23.6
50 59 (415) 29.9 31.1 16.4 429 1.9 6.7 1.0 1.4 17.1
60 (12| 260 388 189 854 10 5.1 0.0 10 128
( 2519 )

38



[Q9

39

100%
80%
60%
40%
23.5
20% 17.9
° 126
6.0 7.7 9.8 9.6 6.8
1.1 1.8 1.4 1.8
0% L
Y 4 - Cco02 10 5 1 3 % - o Wle -
[k— EE - L Ly>s 2011 2015—«¢. 1 —8 « ™ -
~ 4 ooj 8 o tws eV — - N -=
n=30 _ d v - Jll N |II: _ ™= 4
- - L - 2005 e o % %o — - = ™My ™
[ -1 | L- tvd  Ler 1997025 FI VoV k-
10 Vi< fnefi L]0 Ly> SDGs! < 10
5 43k p ks - oV — - A % L
5 Joz# - Y60 mm i 14V
10 Vi Aq zfi) - !
% -V
(2,075) 12.6 6.0 235 7.7 1.1 9.8 1.8 9.6 1.4 1.8 6.8 17.9
29 (518) 18.0 13.3 17.6 3.9 1.0 6.0 1.7 8.7 1.4 0.8 7.1 20.7
30 39 (415) 14.9 4.3 22.9 5.8 1.0 7.2 1.4 11.6 2.2 2.2 6.7 19.8
40 49 (415) 11.3 5.3 23.6 7.7 1.4 7.2 1.2 10.1 1.0 3.1 9.6 18.3
50 59 (415) 9.6 2.4 26.5 9.9 1.4 12.8 1.9 10.8 1.0 1.7 6.3 15.7
60 (312) 6.4 1.9 29.8 13.5 0.3 18.9 2.9 6.4 1.6 1.6 3.2 13.5
( 2.5.1.10 )
50 27
s=L 4 L 5y 44 4 L 5y
Neg o d | aom™ B d | oo™
- d —V krod def=mpym™
, . . . (%),
(2,075) (3.1 210 479 78 20.2
29 (518) 2.7 193 471 8.1 228
30 39 (415) 1.7 219 439 8.0 246
40 49 (415) | 3.9 176 482 6.7 236
50 59 (415) | 43 26.7 453 8.2 154
60 (312) 32 196 57.7 7.7 119
( 251.11 )




[Q11

39 50
39
50
© bl v
SR R N P
"] | 4 +$ ™ TMy8 | 4 1 v ™
R S Y I T
-

4 _"\/'rms TQTM

(2,075)
29 (518)
30 39 (415)
40 49 (415)
50 59 (415)
60 (312)|
( 251.12 )
[Q12
60 32
100%
80%
60%
431
40%
25.0 249
20% 155 184
104 77 88 113
n =230 ’—‘ : 22 11
[ 1 : 360D - o o o o o 0 0= / — o Ylo
| 10 cek—d g d<d Yoo 4 %aj -« ™
5 Nef 4 n o™
5 o PR
(2,075) 155 250 431 249 104 184 77 2.2 8.8 11 113
29 (518) 125 290 471 247 114 137 9.3 19 71 04 114
30 39 (415) 159 263 460 251 77 145 26 2.9 8.2 17 111
40 49 (415)| 154 248 448 287 80 130 9.2 2.7 77 10 120
50 59 (415) 16.6 20.7 39.0 26.5 12.3 23.1 48 1.9 11.1 1.0 11.1
60 (312 186 228 359 176 128 821 42 16 109 16 106
( 2.51.13 )

40



[Q13

29 SNS
60
SNS
100%
80%
60%
40%
20%
0%
n=30
[ =1
10
5
5
10
(2,075)
29 (518)
30 39 (415)
40 49 (415)
50 59 (415)
60 (312)
( 251.14

645
479
238
148
22
w=fi 213 SNS vy = 8 ¥k 3D
[ s s De 8 d
—@dy o' in W%l 02 8
el ey Y |k 0%
P30 :
ady
o ul
47.9 23.8 64.5 14.8 2.2
394 43.8 53.9 6.9 2.9
50.1 26.7 62.7 8.2 2.4
52.8 17.6 65.3 14.7 2.2
52.3 13.3 70.4 17.8 1.4
46.8 9.0 75.6 33.0 1.9

41

3.6
8.9
24
2.4
1.4
0.6

2.7
3.1
14
3.1
3.9
1.9

3.1
1.9
4.6
3.9
29
2.6

50
038
4 /= o
# %aNe x
™A >
o Y
|L
-
5.0 0.8
6.8 0.6
6.5 0.7
3.4 0.0
3.1 14
4.8 1.6




[Q16

36
60
25

n=30
10

10

29
30
40
50
60

50

100%
80%
60%
40%
20%

0%,

(2,075)
(518)
(415)
(415)
(415)
(312)

39
49
59

574

57.4
84.7
77.8
54.0
35.2
19.2

145

145
124
12.8
14.0
17.6
16.7

19
60

29
35 60
23
228
112 110
37
Yolt— ewd 4 4 -
PN K4
>— RS 8
o
-
22.8 3.7 11.2 11.0
25.1 3.5 5.6 12.0
219 3.6 10.4 111
25.1 5.1 9.6 9.6
21.4 3.9 11.6 10.8
18.9 19 231 11.2
( 251.15

42

50.0
9.6

WEBQO« 8
;-0 8
4s a8 i

8w k' DY
Ty fi 42

50.0 9.6

35.7 11.0

43.9 10.8

56.2 7.5

58.6 8.0

63.8 10.6

160 182
104
8 <t
8 i y58 8 oo
8 g di R -8
Omme i  <4¢RD
16.0 18.2 10.4
18.5 15.8 9.7
18.3 17.8 9.4
13.7 15.9 10.8
14.5 18.3 11.3
135 253 11.2

78
29
53 40
- %
5 L
5.3 4.0
5.0 6.0
46 34
438 2.9
6.0 36
6.1 35

21
0.8
19
2.7
3.6
16




[Q23

(

2.5.1.16

29
30
40
50
60

39
49
59

100%
80%
60%
40%
209
20%
0%/ L, L
— 4
El
R
™ <
(2,075) 20.9
(518) 26.3
(415) 22.2
(415) 21.4
(415) 17.8
(312) 135

122 95
- J _I.

- %8
TV oL %
RS |
#04

122 95
100 112
125 123
11.1 7.0
133 8.7
157 7.4

43

938

9.8
10.4
8.7
12.8
7.0
9.9

72

7.2
7.9
6.0
5.8
7.7
9.0

3.0

I CT

120

RO

3.0
3.1
2.9
3.4
3.6
1.9

12.0

9.7
10.1
10.4
15.2
16.3

6.3
4.2
51
6.3
7.0
10.6

1

26
14.6
3.9 06
7= o %o
"
39 0.6 14.6
25 0.0 14.7
4.1 1.0 15.2
4.1 0.7 17.1
3.6 0.7 15.4
6.1 0.6 9.0



(2) Qi1

[Q9

44

100%
80%
60%
40%
235
20% 106 179
: 98 96
6.0 7.7 . 6.8
11 18 14 1.
N - ] L] 2= ] » .
% 4 - Cco2 - 10 5 1 3% - o Ylo -~
- £ + - 4 Lys 2011 201f—«. 0 —8 ¢ ™ 4 -
Jooja o 1Y eV — - oo s % =
n=30 2— 4y - v I~ ™=
[ ] -} 4 - 200t e 0 % %o —  — =Ty ™
- JL- tvd Let 1997028 SV Y k-
. 10 Vi< fnefi L]0 Lv> . SDGsl < 10
5 Aadk e ke VeV = - A %L
5 Jaz# - Fo O mm 4 14V
[ ] 10 Vi o 70 - 1<
3/ Al
(2,075) 126 6.0 235 7.7 11 9.8 18 9.6 1.4 18
- sl 4 qvm™ (879) 16.4 6.8 33.1 9.8 0.8 119 25 9.6 0.9 2.2
— L 1
o 7] jfT% Fo™ 4 aY | qoa) 10 61 186 69 14 91 14 110 20 16
{ qVm™s Fom™ @s5) 26 o6 13  o0s 0.0 19 00 06 0.0 13
( 2521 )
[Q10
szl 4 L g
44 L,y
“Nmd 4| oo
T d | oam™
L Lo =y
L] v Ero <J o ”
(2,075)
_ gl 4 v (879)
£ %] %r%lo™n 4 v ™n
1,041
2 (104D
1 V™ go™ (155)
( 2.522 )



[Q12

45

100%
80%
60%
431
40%
250 249
0% 155 184
~30 104 77 88 113
n= 22 11
0%+
[ 1 R - o o o 0 o 0 04 / — o Yo
10 cek—4 5 4= YVedd  Yad -« ™ e
5 Nef| d 4 n o™
5 o PR
10 2
(2,075) 15.5 25.0 43.1 24.9 10.4 18.4 7.7 2.2 8.8 1.1 11.3
- s LAl 4 qv™ (879) 18.8 31.4 415 27.8 12.7 25.8 47 1.9 12.2 13 33
— L
ij‘sﬂ wyplo™n 4 g™ (1,041) 14.0 23.1 48.4 24.6 9.3 14.0 9.8 2.7 7.3 1.0 10.4
{ V™ Fo™ (155) 7.1 19 16.8 10.3 3.9 5.2 10.3 0.6 0.0 0.6 62.6
100%
80%
645
60%
479
40%
238
20% 1438
50
22 3.6 2.7 31 08
0%
n=30 “mfi 43 SNS  vT § — s ¥k o - - £— i -
Eoe 5 8" De 8 o2% 4 4 # %N x
-1 -ody ' i %k oz s - oz%lF az% ™o2
10 okl £ Yo |k 0= Y% 3 o0 Y
5 2 en 3 3
5 ady
10 e %l
(2,075) 47.9 23.8 64.5 14.8 22 3.6 2.7 3.1 5.0 0.8
- s A L 4 qvm™ (879) 52.0 25.0 67.9 20.6 2.6 3.4 3.0 3.2 3.4 0.6
— L A ™ ™
Zjﬁl wylo™n 4 qv™n (1,041) 45.4 24.6 64.2 11.3 22 3.8 2.7 2.9 5.1 0.7
{1 9v™s Fom™ (155) 41.3 11.6 47.1 5.8 0.0 26 1.9 45 135 3.2




[Q14

29

23

60
27

2.525

1009
80%
aov. 574
500
20%
228 o
18.
20% ' 160
- 112 110 96 m 104
37 53 40 21
o — s R
n=30 - - Yolf— ewd o d — WEBO. 8 8 <t - - - o
4 e=to <! K4 PR 5 i ho8 s 0o —
[ >— oo . vos8 o o oqdl Ry
| ] 10 8 sy H' DY Omm- i <4¢RD
5 T f fi 2>  — o -7
5 - — o L—
| 10 4
(2075 | 574 145 228 37 112 110 500 96 160 182 104 53 40 21
- el { V™ ©79) 595 171 201 43 138 14.9- 139 225 267 150 6.7 49 19
— 1l ™ ™ 1 T 1 i
zT*' vrslko™ 4 av™ | oy 572 135 197 35 101 91 452 70 123 135 7.7 20 16 17

[Q22

70

R AL

.n‘/TM

REERALE

" Foeolxg
-
"SN8 = #
EEE

. -

™/
¥ o= o

- ysllLom

4 owfVvisozs
-

# Y00 ™8

oy ™

4 Loym

4 Yoo ™M— 2

™S o™

™

4V ™ < %Nef| —#

™Y ™

( 2526

46




[Q23

100%
80%
60%
40%
209
20% 155 o o 55 146
’ ’ 72 6.3
3.0 3.9 06
RV - 4 92— I CT -0¢cs 4 7= o %o
4= - % s— = no-H 1 ™
4 oosvd oy w L
n=30 % jIE y ° . l ﬁﬂ
™| < E)
[ - 1
[ 10
5
5
| 10
(2,075) 209 122 95 9.8 72 30 120 6.3 3.9 06 146
- el el { qvm™ (879) 249 155 113 109 8.0 27 12.3 7.1 25 06
— L
N wi il Zjlf% Fo™n 4 g (1,041) 19.1 10.9 8.9 10.0 7.3 37 13.4 6.1 5.1 0.4 15.3
4 gV™s Fo™ @y 7 32 32 19 26 06 13 39 3.9 19
( 2.527 )

a7




@) Q17 - |H

[Q12

100%
80%
60%
431
40%
250 249
20% 155 184 113
n=30 104 77 88 §
22 1.1
[ -1 0% 7
"ok - o o o o o 0 0= /— o Ylo
10 cek—d 7 <4 Yead  vead -« ™o
5 Nef| il 4 n 6™
5 o PR
10 >
(2,075) 155 250 431 249 104 184 77 22 8.8 11 113
L jl 32— dc-|r= - %NJ Y (681) 17.2 30.5 495 28.8 122 19.7 6.5 13 112 0.7 3.1
- ;Nofi' B wizoo oL %Ng VY (558) 170 287 403 254 136  21.6 5.0 41 12.0 18 2.9
- aNgf V<
™o A Yo | 0% v (569) 142 192 445 221 7.7 127 109 16 5.4 0.9 17.0
100%
80%
645
60%
479
40%
238
20% 148
22 3.6 27 31 5.0 08
, 0%
n=30 i 3 SNS v § — s %k o> - - 2 i -
- [ s s*De d oz2% 4 d # %Ne x
—odf o' in %l oz 8 [ ozl oz¥% ™Moz
10 el e s |F 0z % 3 o %
5 i3 en [ 4
5 odf
10 o Yl
(2,075) 47.9 23.8 64.5 14.8 2.2 3.6 2.7 3.1 5.0 0.8
L j\ 32— Jrfr= - %NV (681)) 537 288 689 148 22 44 22 18 44 06
] - ;Nof‘/‘ < ot #0600 L %Ny v (558) 47.7 23.3 64.7 22.2 3.6 36 3.9 5.6 3.4 05
- AR
™a A 30 - owlV (569) 46.0 21.4 64.3 11.6 1.2 3.2 1.9 2.5 42 0.4

48




[Q14

29

66

100%
80%
oo 574
500
40%
228 182
20% Y 160 -
145 112 110 96 104
37 53 40 21
o — o
n=30 - - YVolt— ewd s 4 — WEBOa 8 8 <t /= o
=10 ' K4 I -0 8 8 i _
[ -1 >— o3 . 8 4o 8 ol s
|| 10 8 Bw ' D¥
5 4 fi 22 - - - - %
5 _ - Lo
|| 10 J
(2,075) 574 145 228 37 112 110 500 96 160 182 104 53 4.0 2.1
[ 4I] - Ao = - %Ng Y (681) 66.1 17.0 26.0 38 116 13.1 57.1 126 228 226 132 65 44 19
T Ty o wi#zoo o~ L %Ny Y (558) 545 199 305 59 156 158 582 145 199 152 65 3.9 2.3
Nof V< ™3 Ao - low v (569)| 543 105 167 19 7.9 62 420 40 8.1 5.6 35 14 11
v otwisd e[ Visoze V™M SH%Nef - MY ™
L] | # %0 ™%s  ft— 2 oV ™
“SN§z# 4 Loy
™ a 4 Yy ™M— F - ™
e T Mg ma ™
o= 0 x
- whom
| =
¢-||j$— 4= - %Ng Y
- - A ot £00 L %Ny v
0 e s S
N[ Vs ™3 A% - |o%rv

( 2534

49




[Q23

10

o

10

Hye- Trbi=

jo4 -
Nof V< ™3 Ao

( 2535

-

- Y%Nof v
ot #0000
| o vy v

-

L

%Ny v

100%

80%

60%

20%

(2,075)
(681)
(558)
(569)

20.9

20.9
239
229
18.8

122 o5
]

- %8
TV L %
1z
#0904

122 9.5
14.8 9.3
16.7 12.0

7.2 8.8

50

9.8

9.8
12.6
115

7.2

72

30

I CT

n
7.2 3.0
9.0 2.8
8.8 2.3
5.6 4.2

120

-0 4o =

12.0
13.7
133
12.1

6.3

“H

6.3
6.3
6.5
7.0

1

146
39 06
k7= ke
3.9 0.6 14.6
3.5 0.3 3.8
2.2 0.7 32
6.2 0.4 225



